i=0,015 | i=0,015
—— ——
K-1 298 OK-2 k-1 0kk OK-3 2.98 K-1
— : 1 — = d : I L ' : — T 4. =
mumﬂ 1Ol+K[]_04 locmuras
328/48 %200 3 28,48
46,43 CnafibHa : CnafibHa 46/43
\8+ CnanbHs (49.10) : ' (49,10) CnanbHs
= 123 12,52 8.73 873 12,52 123
= ﬂ}’_ I3 ¢ 13 XA 03 R fﬁ =
E@lﬂﬂ\g\ 8.35 Mpuxoxas 1 T ﬂ2 Mpuxoxas 8.35 14
Basa ] \Q‘" 2,800 I I éBllHH(lFI :
o 1,97 2.872| Mpuxoxas 02 5,600 2 Mpuxoxast |p g2 1,97
g S P w [
= g / e 5 =\Q ' ' V 15" ¢ ’\
ot R 2,12 nL4
% Kuxhsi % FocmuHas f—i FocmuHas % Kuxhsi @
6.22 oo 13,41 /.114 locmuHas 13,641 00 622
=N 6L ) 36k e
=1 | Ky (33,09 | ! W 12179 (33,03) Kyxhs k3 |
= 236 10,68 13,81 Kuxwg 25198 13,41 10,68
N (2872)
| 6.4 ' 12,79
I 1 E \\;Il |I; I 1 -:_\ﬁil_ |il// E I 1 III_
K-1 2 Ok 0K-2 OK-3 K1
2,78 548 2,40
2’150 5600 1500 2680 1500 5600 2700
22330




